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General Instructions ;

(i)  All questions in both the sections are compulsory.

(ii) ~Marks for questions are indicated against each question.
| (iii) Question Nos. 1 ~ 4 and 13 - 16 are very short-answer questions carrying
I mark each. They are required to be answered in one sentence each.

(iv) Question Nos. 5- 6 and 17 - 18 are short-answer questions carrying 3 marks each.

Answers to them should normally not exceed 60 words each.

(v) Question Nos. 7 — 9 and 19 - 21 are also short-answer Questions carrying

4 marks each. Answers to them should normally not exceed 70 words each.

(vi) Question Nos. 10 - 12 and 22 - 24 are long-answer questions carrying 6 marks

each. Answers to them should normally not exceed 100 words each.
(vii) Answers should be brief and to the point and the above word limits should be
adhered to as far as possible.
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If the market supply of a commodity X cbanges dne"m
the market supply curve will
OR

If the market supply of a commodity X changes dne to me in
the market supply curve will
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In the given figure, the movement on the pr
point B shows
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Underutilisation of resources.
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. \...s,,'” Good Y are complementary goods. If pric
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If the income of a consumer increases, discuss brie y its like
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Times

Identify and discuss the nature of the following newspaper re
Or normative economic analysis ;

(1)  “India jumped 23 points in the World Bank's ease of doing business index to 6 -
77" place, highest in 2 years." — The Economic Times j .
?
i

-
.

ports in terms of positive '

(i) “Government should further liberalise the business rules.” I
Times
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State and discuss the conditions of consumer's equilibrium under ordinay approach,
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Quantity (in Units)
(8) Identify if the diagram represents,

Suppose the demand and supply equatio

competitive market are givenby : .
y: é
Qa=1700-2p ‘-\?_ :
Q; =1300 + 3P

) ‘”

Elaborate three main features of monopolistic competis; Y

OR ' 1On form of marye,
 Distinguish between perfect competition and = R BT -
ot following ' nopolise compege
(a) Number of sellers ¢ T Rantls
“(b) Nature of product
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Suppose in a hypothetical economy, the income rises from !

crores. As a result, the consumption expenditure rises fre

crores. Marginal propensity to consume in such a case wou
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at is meant by primary deficit ?
OR
‘What is meant by fiscal deficit ?
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Give any two examples of flow ¢ nc F
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Define the problem of double counting in the computation of national in ,:,f\f ,
any two approaches to correct the problem of double counting. 8 K
OR
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Whatismeantbydeﬂationarygap?State any two fiscal
situation of deflationary gap.
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Given the following data, find the missing values
Formation® and ‘Wages and Salaries’.

’ r'
S. No. . Particulars
(i) Net Indirect Taxes .
(iii) | Wagesd Fal.
(iv) | Govem umptior
v)  |NetE bit
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}, (vii) Nef * from Abroad
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(1) State any two components of M; measure of money supply.

(b) Elaborate any two instruments of Credit
Bank of India. Contrgl ‘!K &

OR
Define Credit Multiplier. What role does it

: play in det
power of the banking system ? Use a numeri termining the credit creation

cal illustration
58/1/3 14 to explain.
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